SF0 445y i = X 15
T REATH 4 - EAPEREIRAT REREE
e R ks @ A o w4 [P PEEERTIBEITOGES
| TR Ecei 30% 1.2 i 35&‘@ 7. ?1’@ 3.{3% 35 ’ |
| KI BITEZy it 40 | 1.1 -1 - - -
LIS o Hitd; 30 | 1.0 R 4. Ol 7. 30 2. 3%l 2.3
| FAJR TR 00 AR O 8 B 0% d B HiUE
1 [EiE1 8 5#in
(1) IEBFEEMRTHROZESNE |40 | L1 [FHuEE e ey e
P A D it dnk
(2) LERLsoHg 40 | 1.2 [AAERELTE  pLYE  pLYE
2 WGEREHS SSHHA
(1) E=HOBETEESRFME (MHMEE 40 | Lo |[ArEELE ol s
fi) 1nf%7z9 11, 80 0MLLH
> e
(2) EFELAOHIK 40 | 1.1 |E¥EEE i %ﬁ
3 FEMOFEFER - FHERD 40 | 1.2 |FAIAEELLAE v ph
SIS GIDE a0 145 40 | 1.1 (FeAEE R phYE b7
_EETLAS 0 Hitdk
1 EEERE M o B XK il 3.9l 5.0
2 ERRES O HE
(1) BIFEsRE 40 | L5 s e
(2) _ERELASh D HE 30 | L2|h 6.4 9280 2.3 2.3
<| refk jellbs g3 40 | L1 e s
EELIS O Hi; 30 | 1.1 [ 3.5 6. 2t 2. 2%t 2. 2
L iR B S T B H IR PN oD 2 P K3 ﬂSJESﬁ
LFRLLA o> it
1 BUEsrREM 40 | 1.2 e s
2 KF., Bk, HER, WAFDS 40 | L1 |7 6.1 9. ol 2. 3%l 2.3
3 RS MR 30 | 11[fE 3.9 SBﬁZJﬂZﬁ
7| B T FHE O SR O FE B DY B D Hil 40 1.1 |ALtHER e EhYE  ERTE
RFRLAA D His
1 FEEIREHIG P o 5 A Hh X il 3. 9 5. 0




SF0 445y i = X °H
T REATH 4 - EAPEREIRAT REREE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
D B 2 ERELSA ORI
(1) BIFESaE 40 | 1.4 s s
(2) LEEES oK
A4 L7zoghgdh LaoRE v Efla 30 | L3 |f 6.4 9.6 2.3 2.3
Hira
o RRREAS O M 40 | L 1| 7.1 1086 2. 3t 2.3
O\ PR Eciil 40 | 1.1 [l 4. 200 7. 5Em 24E 2.4
5| i T R EE O IR R O T8 E 25 & 2 HUm
1 [EiE1 858 40 | L1 [FHEEEEE R ttﬁ‘
2 LbRELS DR 40 | 1.1 J%bt“@l’;tt%% ok Wi
LFEELS o> Hr e
1 REEHR B PN 0> B A Hh (X L 3. 9 5. 0
2 ERCEAA OISR 40 | L1|% 6.8 10/ 2. 45 2. 4
wifE B Ay 40 | 1.1 o
RELIS O 40 | 1.1 [0 3.5 5. 9t 2. ot 2.2
V3 FE Ezer 40 | 1.1 [Wl 4. z[z 7. 50 2. 3l 2.3




